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o METR ASS
SA - BB G(3) - HIRAY - BAS O &b ol ® o
SIS BEZ(FRUHAAEZ)(Z2D) 50,700 47,320
= 39,000 36,400
T 11,700 10,920
403 XIS HMSKHE0IA 50,700 47,320
= 39,000 36,400
= 11,700 10,920
01 AEXI SN A =22 X 50,700 47,320
oOsMEIEA,(FLHIE) B2 50,700 47,320
= 39,000 36,400
& 11,700 10,920
SMOIEIS XA (HEAIR) 4,784,000 4,247,000
403 REXIHMS K201 4,784,000 4,247,000
01 XN AE2ER 4,784,000 4,247,000
OEH SHISMES =4(XE) 2,537,000 2,000,000
O{gl0l ol=AId SESH=1) 168,000 0
= 150,000 0
= 18,000 0
403 MXISHHMSKHE0IA 168,000 0
= 150,000 0
& 18,000 0
01 AEXI XA =22 L 168,000 0
O0el0l OI=Z2AIE =X3t 168,000 0
= 150,000 0
& 18,000 0
Qlatel ZAARNIIESAIE (=Z1) 161,980 100,270
= 161,980 100,270
301 LetENZ 61,710 0
= 61,710 0
01 AISIBE XS (2 UETME) 61,710 0
ESFSPNI=r=NI=1 61,710 0
= 61,710 0
MRS 52 Y 6,399,597 6,3%,19%5
= 786,520 786,520
| 424,000 424,000
& 5,189,077 5,184,675
AZEMEHOE 2F0HLIM X1 4,402 0
308 AtXIHMSOIH 4,402 0
01 AXSHHBLEERS 4,402 0
OKE=MEI0E 2I0HLIM X1 4,402 0
A2 2435 2,017,290 1,976,290
B2 HIENZ A JHE 30,000 0
308 AXIHMSOIH 30,000 0
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el sgad 243 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
01 AXHHBAEES 30,000 0 30,000
OS2 HIEY A &AL M=l 30,000 0 30,000
Sa2 Hu| 122,000 111,000 11,000
403 MXISHSX=01H 122,000 111,000 11,000
01 A= 2L 122,000 111,000 11,000
O S4tZ2 FHIAG 22,000 11,000 11,000




